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1/ £6 X 3 = 22| 38 X 50 = I 702 2= 22| 2,208 + 49 =
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9l /X 2= 24| 53 x 72 = 9 280 + S5 = 24| 4,232 + &2 =
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1| 43 X é = 2| §4 x /3 = I Tl =l = 22| 3,//6 +76 =
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9| 45 X 3 = 24| 70 X 3% = 9| 208 + 4 = 4| 5,508 + 8/ =
10| 72 X 4 = 25| 4/ X 6& = 10| 435 + 3§ = 8| 2,378 =75 =
| 873 R 7 == 26| 67 X7/ = 11| 3,850 = 6 = 26| $5220 = 58 =
12| 705 X & = 21| 25 X &7 = 12| 59,438 + 7 = 21| /,680 + 20 =
13| $é& X 4 = 28| 5& X 42 = 13| /,656 +~ & = 8| 1,738 + 3% =
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No. 11 1:2 13 14 15 16 17 18 19 20
1 /2 ¢ 32 74 20 I7 F0 Jé 70 73
2 70 &4 6/ 68 76 7' 53 4 62 %0
3 I& 37 £S5 Sl 23 /& /é $E &3 /7
4 &7 &2 77 /0 S/ S5& i Z2 28 28
5 #é /7 %0 27 &7 &0 §%7 76 /% 65
H)
No. 21 22 23 24 25 26 : 27 28 29 30
1 48 0 24 73 g/ /7 S¥ 50 30 %0
2 &7 64 TS &0 &7 &2 Vi J¢ 76 77
3 /3 20 /& —6¥4 70 —=#.8 W &7 7/ 57
4 56 78 &0 §®7 Tl =g 70 —7 60 Lk
5 25 = F 67 =T %3 76 63 %9 &7 —46
6 /0 =37 20 23 £ 20 36 —-&/ I3 38
¢ i %/ 23 60 76 35 &5 5& 42 62
#




%190 Abacus Circuit F2 = mE

DA [BASA 1 B2
DYSH [HASA1E28

(ol AL
tAdA 1T R

Or

18

mn

p=
~,

e et
z

MISA BUFALHASSD ( 4 ) DUZA BULFALDASS ( & )

1| 36 x 4 = 16) 348 x $ = 1| $8532+7 = 16| /.687 = 7 =

2| bz = 17| 904 x 2 = | 290 « & = 17| 408 & 2 =

3| 32X ¥ = 18| 460 x 7 = 8 2d0+ & = 18] 85,782 + 7 =

4l /& X 9 = 19| 236 x $ = 4| 129 % 3 = W L797 +.8 =
5| 87 x 4 = 2| 257 % 7= B fLd =3 = 20| 448 + & = ‘
6| 93 X & = 2| /5% 37 = 6| £64 + 9 = 21| 2,788 < 34 =
7| 47 x 9 = 22| 58 x 79 = 1| PO+ &= 22| 7,735 + £5 =

8| 20 x 4 = 23| 49 x 43 = B J28 <+ 0| BP7E P2 =
9| 74 x 2 = 24| 9/ x &5 = 9| 70 + 5 = 24| /,530 + 5/ =
10| #9 x 3 = 25| 37 x 94 = 10 2/6 + & = 25| /,242 + 49 =

1| 67/ x & = 26| 70 x & = | /25 3 26| /,764 + 28 =

2 372% 2= 21| 84 x 3/ = 12| 2,788 + ¥ = 21| 6,882 + 93 =

13 /93 x 4 = 28| 23 x 90 = 13 3,782 + & = 28 #5727 =

14| 209 x 7 = 29| £2 X 54 = 14| 3,900 + 5 = 2| /,750 =+ 70 =

15| 785 x 9 = 30| 46 x /2 = 18 AF¢L = 3= 0| %002 = ¥4 =




1 9@ Abacus Circuit T2 ¥E &

MNITEA NDUZA | #EVUSZA | Z5EHF0
A B g K &
HEVEA BUWFALHASHD ( 9 W) (BAEA1E2E & 2AEA1EIR &l R/

No. 1 2 3 4 5 6 i 8 9 10

1 %4 kv 4 30 43 g0 3& &Y 3/ &2 s
2 70 &3 &4 /0 7/ V%) 76 &0 53 20
3 28 K /7 77 52 27 72 &5 /9 57
3t

No. 11 12 13 14 15 16 2 i 18 19 20

1 97 Yae; &5 56 /¥ ) 53 /& &7 ©y
2 34 78 30 78 o5 /3 /6 “5 & 5&
3 24 &4 62 2 &0 76 27 4 S0 39
4 ity I /7 I# 3& F# &7 37 4 &/
5 &0 29 7 70 72 7.0 %0 20 73 20
3t

No. 21 22 23 24 25 26 27 28 29 30

1 25 g7 7, 74 75 /0 &8 7 27 i
2 T &4 2 &2 67 &Y 70 29 ) 6.2
3 5& —44 &/ —/é &3 52 &7 &7 L) #“3
4 3.2 —20 “o 3/ “e 7 23 —40 ’ys —/9
5 70 37 S« —65 60 —45 ey 73 70 —7&
6 63 /S 7é 30 72 —§&9 S —-3& 2/ 50
7 L &0 &0 g7 3/ /0 20 &5 3& 3é
Eis
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IS [BASA 1 B2
nYZhA [BASA 1 B2G

g 23dA1E1E &

23lh1B1E Al

MNIEA BLFALHASS ( pa ) DUSA BLFAULNASSH ( ya)
1} 78 % = 16| /43 X & = 1| /& + ¥ = 16| /,#70 <+« =
2| 24 X & = 17 209 X & = 2| 280 + 7 = 11 /W34 ¥+ 7=
3| £6 x 7 = 18] $&4 x 2 = 3| /68 + 6 = 181 /w350 5 & =
4f FIXR 5= 19| 742 R & = 4| //7 + 7 = 19 2082+ 3=
5| 7 X F = 200 677 X ¥ = 9 207 + 5 = 0 2,273 %% =
6| 0 X 7 = 21| /4 X S0 = 6| 472+ & = Al 2200 + &5 =
11 /7 X 6 = 22| 78 X 3/ = T| 30% + 7 = 22 L6t & T =
8| & X ¥4 = 23| 46 X 27 = Bl Ao+ 7 = 2| $./87 + 7/ =
9| I3 X 2= 24| 7 X 62 = Y| Y 2 = 4| 4,588 + 62 =
10| 6/ X 3 = 20| L3 X #8 = | 255 + 8 = 2| 2,225 3+ 7 =
M| &30 X 7 = 26| 79 X /6 = N| &7¢4 + 2 = 26| /488 + 4& =
12| 764 % 3 = 27 60 X 732 = 12| 4,.5/0 + 8 27| 6,840 +~ 76 =
13| 405 x 2 = 28 52 X 78 = 18 S92 %7 28| /., /48 + /4 =
14| 2/8& X 7 = 2 F5 X FY = 14| 2,/63 + 3 N8| 2,040 + 30 =
15| 37/ X 3§ = 0| 7/ X 34 = 15| 6,472 + & 30| /,007 + 53 =




=2 0E Abacus Circuit F2 #EEPRE

MFEA HUEA | AEVUZA | 25T
B = FIE 2
HEVEA BULIFALDASS (. 9 B [GAZhIE2E 5 23dA1EIR Al

No. 1 2 3 4 5 6 7 8 9 10

1 @2 27 g0 34 $LO 7/ 2% 3.6 ) 37
2 & &9 /¥ Tl 75 b2 73 28 &3 20
3 &0 5& 39 50 75 e /0 3/ &7 $/
&

| No, 11 12 13 14 15 16 17 18 19 20

1 Pe%y 2/ 12 23 /0 2T 3& &/ L4 7é
2 “3 T 30 79 39 5& 4, 70 g/ 20
3 74 50 75 &0 wr §g/ i 28 57 59
4 20 “e VA S &7 70 2.5 g3 &0 /¥
5 78 78 §é &/ &5 364 24 $©E 32 &3
i g

No. 21 22 23 24 25 26 27 28 29 30

1 79 g0 70 /7 30 &3 &l 70 Y 20
2 &0 3/ &Fé 26 78 25 74 &é 2 73
3 §“3 56 73 53 &/ ©“7 &9 5& %o &/
4 S —70 VA —/0 &L -/ & S0 —30 75 —/5
5 /6 —465 /0 7 “£0 -7 .2 /3 ©s /7 —3¢
6 3& 4§ 2 $£7 —4 & 359 &0 S -9/ &5 76
7 62 2& el S 72 ?¢ 2 23 36 27
2t
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NIZA [BASA1E25
nU2A [HASA 12

B 2AEAEIE o
m - 23lA 1

1 1 m

NNFIEA BLUFALDASH ( 9 ®) DUSA BLFALDASH (1 9

11 7/ X 3 = B 70/ % 2= 11 /08 + 6 = 16| 2,000 ~ & =
2| 40 X é = 1T /68 % 7 = 2| /&6 + 2= 17| 3,848 =~ ¥4 =
3| L3I X S = 18] 645 X & = 3| 287 + 7 = 18| 740 <+ 5 =

4| 35 X & = 19 LEO X 7 = 4 200 +~ & = 19| 2,756 + # =
b| 7& X' = 20| S34 x 7= 5| /38 + 2 = | 72/ +7 =

6| ¥ X 2 = 21| 746 X 4& = 6| 44 + 4 = 21| /,58% + 42 =
1 67 X 7 = 22| S$4 x 26 = 1 2/6 + 3 = 22| 3,6/8 + &7 =
B .2 X ¥4 = 23| A7 M EF = 8| $/3+9 = 23| 7,252 + 74 =
9| 37 X § = 24| 6/ X /¥ = 9| /50 + 4 = 4| 2,070 + 70 =
10| /&§ X 3 = 25| 73X £33 = 10| /26 + 7 = 25| 494 + 26 =

11| £23 X 6 = 260 0 x 3/ = M| /,/56 + 2 = 26| /,230 +~ /8 =
12| 3/7 % & = 21| /8 % 78 = 12| 6,606 + 7 = 21| 3,645 + &/ =
13| 702 X # = 28| 38 X 90 = 13| 2,430 + é = 28| 2,030 + 29 =
14| 489 X § = 29 /2% &9 = 14| 2,673 + 3 = 29| 5,088 +~ 53 =
15| 796 X 3 = 0| 47 x 92 = 15| 2,282 + 7 = 0| 2,3/8 + 38 =




=2 1@ Abacus Circuit F2 ¥ ERE

HiIEA | hUEA | HEUSA | DTN
A B £|E &
at[‘:)éﬂ’ ‘Eb\lfﬁlub\ﬁl5ﬁ ( ﬁ ﬂ)) [ﬁ/‘léfu1%2§ flﬁi\ ! %5|ifb1i'i;1 M fli\] my

No. 1 2 3 4 5 6 7 8 9 10

1 36 /& §3 40 55 &9 30 48 49 5/
2 70 53 20 72 24 60 78 42 2/ &4
3 52 76 4 &S5 /é 73 /¥ 77 50 27
2t

No. 11 12 13 14 15 16 1.7 18 19 20

1 &5 26 40 29 27 3¢ 7.2 76 &4 47
2 70 78 r5 “/ ¥3 S S0 70 72 &2
3 24 39 &9 §é 9.5 /9 7/ 42 &0 ¢3
4 fod /0 62 7.5 60 &7 3& &5 /7 S0
5 76 Fd 73 30 /& 20 #é BJ 52 7/
it

No. 21 22 23 24 25 26 27 28 29 30

1 40 26 3/ 79 20 §3 &0 &0 &7 2/
2 /5 70 %0 36 74 72 %9 /9 26 70
3 §2 &9 /2 —26 68 5/ &é —34 /6 56
4 29 -5 40 &5 /é ~30 &4 4¢ 70 —&4
5 7¢ 5% 9.5 -9/ 50 ~/& 7/ ~/0 32 ~/3
6 34 4/ 63 42 9.2 74 27 52 93 36
7 57 75 87 50 37 65 53 77 54 70
at
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%220 Abacus Circuit F2 WEME JU5 2hA B 2 MR 4 2
MIZA BUFALDLASH ( o #) DUSA BLEFALDASSD ( 2 )
1| 786 x 7 = 16| 9/2 x 4 = 1| /06 + 2 = 16| 2,/06 + 3 =
2| 43 x § = 17| 506 x & = 2| /74 + 6 = 17| 6,584 + & =
3| 37 x 6 = 18| £2/ x 3 = 3| /86 + 3 = 18| 2,490 + 6 =
4] 56 x ¢4 = 19| 249 x 7 = 4| 270 + 9 = 19| /,236 + ¢ =
5| 2/ x 2 = 20| 743 x § = 5| /05 + § = 20| /405 + 5 =
6| 0 x 9 = 21| 67 x 72 = 6| 600 + & = 21| 9346 + 39 =
7| 69 x 3 = 2| 5/ %X 9/ = 1 460+ 5= 2| 2,360 + 40 =
B| 74 X & = 28| TP ¥ IO = B8] /4 - 3= 23| /.380 + /5 =
9| 75 X & = 2| /5 X &3 = 9| 588 + 7 = 4| /,2/5 + 27 =
10| /2 x 4 = 25| 34 x 59 = 10| 66 +~ 4 = 25| 2,888 + 76 =
1| 450 x 3 = 2| 26 X 4& = 1| 4,882+ 7 = 26| 5/2 + 32 =
12| /07 X é = 27| 63 X /7 = 12] 4,764 +~ & = 21| /360 + & =
13 3885 x 9 = 28| 40 X 65 = 13| 7,260 + 9 = 28| 8,9/3 + &/ =
14| 498 x 7 = 29| 98 x 36 = 14| 3,976 + 7 = 29| 4,698 + 54 =
15| 374 x 2 = 30| £2 x /4 = 15| /,3/4 + 2 = 30| 5,673 + 93 =
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NI A DUZA | AEVEA i g o
B B FlRK &
ArUEA BLFAULNASSD (1 T B) [GASA1E2E & 23R 1ETR =)
No. 1 2 3 4 5 6 7 8 9 1'Q
1 T 73 28 39 5.2 70 75 /0 S ?/
2 ©y &0 7/ 25 /& “3 36 §y 72 L
3 30 &/ 56 &8 $#0 &Fé / o2 &9 90 2.3
2t
No. 11 12 13 14 15 i6 17 i8 19 20
1 &0 3/ 69 68 7Y &0 70 £F3 37 $A
2 23 &7 27 2 63 27 36 /0 59 39
3 §$q 75 &4 70 29 & 7.5 ©2 26 70
4 5& 20 Y g/ &/ I /2 &5 49 &2
5 7/ %4 30 3¢ S0 79 “E 97 /& &/
No: 21 22 23 24 25 26 27 28 29 30
1 F¥ 79 26 23 7.3 30 /& 36 KA /7
2 20 77 $43 &7 &5 % 75 ) 7V 63
3 /7 &0 &% —5.2 “2 G4 F# 53 /é 70
4 68 —35 /# 'y /7 —56 e —-7& 70 —4E
5 4§53 &2 0 —7 ¥ 76 —-3.2 24 %0 &/ —50
6 ol /é &é &9 50 &7 g3 -5/ 38 37
7 30 &Y 25 &0 &9 /5 52 29 20 2/
2t
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MWIEA BLFALDASD (. 9 )

NSk [BASA 1 B2
nYeh [HAZA 128

o 23N &
e IEIR R

HhUudA BLHFAULNASSD (1 »

1 =]

[I1h} 1

11 35 XS5 = 16} 728 % 3 = 1] 336 + 6 = 16| 2,076 + # =
2| 90 X 7 = 17| 63 X 2 = 2| /68 + & = 17| /07 +7 =
3| 67 X 3 = 18| /47 X & = 3| //6+ 2= 1B 320+ 2 =

4| 42 X & = 19| 7686 X ¥ = Y45 + § = 19| 3,024 ~ 4 =
5] $4 X 6 = 20| 377 x 6 = b| /88 %= 20| 4,7/0 + § =
6] 73 x 7 = 211 3/ X 7é = 6| /08 =+ 7= 21| 6,048 + 72 =
11 &/ X 6 = 22| /6 X 3% = 1l /72 + 3= 2| /,/27 + 23 =
8| 77 X 7 = 23| 20 X 63 = 8| 2/0 + 6= B PS5+ 4 F =

9| /&8 X 2= 24| 78 X 47 = 9 2/0 % 3= Ul 3572 %+ ¥ =
10| 26 X 4 = 25| &3 X /S = 10| 65/ =7 = 25| 3,538 + 4& =
1] 32 X7 = 260 J8 ¥ e | 3,632% % = 26| 420 + 3/ =

12| 204 X § = 21| 74 x 29 = 12| 2,722+ & = 27| 5,367 + 59 =
1B| 3/0% 7T = 28| 87 X &2 = 13| 6,680 + & = 28| 2,280 = 30 =
14| 3085 X 7 = 29| 62 X 7/ = 14| /,406 + 2 = 29| 4,462 + 46 =
15| 49/ X & = 0| 47 X & = 15| £82 + 3 = 30| /372 + &7 =

Or
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=




=2 3@ Abacus Circuit F2 #EMRE

WMIEA DUBA | HEVUSEA | TOFW
B =] FgFI1K B
AHEVEA BLFALDASS (1 9 B [BASKIE G.23A1E1S & &

No. 1 2 3 4 5 6 7 8 9 10

1 &7 I g2 /0 2/ 30 $ 2 7E 70 &/
2 25 /6 &3 © &0 /¥ 3/ 20 73 S50
3 /404 &5 56 &8 ©“3 &7 7.5 4 &2 @7
EiB

No. 11 12 13 14 15 16 17 8 19 20

1 25 S/ §“g 97 75 F9 3/ gl 99, /7
2 F3 30 59 S0 #3 V%) ?0 70 3.2 3&
3 60 &7 36 & /é 4§y &7 27 57 20
4 VEA 72 27 /3 20 &0 ©s (/'S /& 784
5 79 &Y /0 246 95 6.2 &2 FF &7 S5é
ExS

No. 21 22 23 24 25 26 27 28 29 30

1 37 §©g 7/ 24 Tl &0 75 28 &Y &/
2 20 &0 LY 30 S¥ L& ), /6 g4 359
3 25 F7 &Fé 73 &7 —32 &3 70 &y —/0
4 /9 70 a9, —45& &9 —20 &0 —&7 37 —-92
5 &0 -2/ /3 25 3.2 FE%) 2.7 ©s /3 38
6 246 —/ ¥ 35 -/ & g0 g4 S —3% 27 §7
7 L4 7.3 ?& %0 23 74 g/ 27 S0 &5
2




&2 40 Abacus Circuit F2 B PRE

N2k [BAdh 1 B2
nugh [HASA 1 E25

B EAEATE
@ BAEATETR

A=

N

ey
: el et

-

Or

=

=

MNISA BOHFALDASS (1 5 #) DYUSA BLFALDASS (1 £
1] 3 X 3= 16| S08 X 7 = | 248 =+ # = 16| /:398 &&=
2| 47 X 8§ = 17| 286 X 5 = 2| 40 + 2 = 11| 4,758 + 7 =
I| 4 x 3 = 18| 473 X 6 = I| 3/0+ 5 = 18| 7.308 + 7 =
4] 68 X 2 = 19| 778 X 3 = 4 /53 + 7 = 19| 3,/68 + & =
5| 20 x 7 = 20 £2/ X7 = 5| 246 + &6 = 20 3./38 = &=
6| /7 X ¥ = 21| /3 X &S = 6| 78 + 3 = 21| 2,088 + 36 =
1| 76 X 6 = 2l &7 K 2T = 1| 5&8& + 6 = 22| 4,386 + 5/ =
8| 74 X & = 23| 35 X 42 = 8| 67 + 3 = 23| #,550 5 £d =
9| 45 X 7 = 24| 40 X 63 = 9| 623 + 7 = 4| 468 ~ /2 =
10| 3/ X7 = 25| 2/ X 36 = 10| 408 ~ & = 25| 7,980 = &% =
1} /OF X &= 26| 62 X /7 = n| /,274 + 2 = 28| J, 580 %+ 20 =
12| $/7 X ¥ = 21| 768 X &/ = 12| 2,804 + 4 = 21| /333473 =
13| 640 X 2 = 28| S9 X 74 = 18| 760 &+ 2 = 8| 4,074 + 77 =
14| 732 X 4 = 29| 24 X 98 = 14| /,5/2+ 3 = 20| /8786 + dF =
15| 34 X 2 = 30| 46 X 50 = 18| /,242 + 7 = 0| 437 + 47 =




=2 A Abacus Circuit F2 B MRE

NIZEA | DUBA | AEUEA | S5
R B K B
HEYSA BLFALDASH (. 2 B [GhSAI1E2R & 23EATEIR Fl R

No. 1 2 3 4 5 6 7 8 9 10

1 &/ 72 %0 26 79 70 /é 73 *& 7Y
2 65 g0 76 i 35 7% 58 &# 23 30
3 87 5/ 32 50 62 57 29 /0 &7 g/
#t

No. 11 12 13 14 156 16 1.7 18 1@ 20

1 90 74 79 43 40 %/ 49 &4 % 30
2 &6 63 76 20 27 29 73 65 70 §2
3 35 /0 50 7¢ 95 ¢0 62 72 32 44
4 Fod 52 38 T &/ &5 S 30 /& 4
5 %7 98 %2 &/ £3 37 §0 7/ 45 59
Bt

No. 21 22 23 24 25 26 27 28 29 30

1 97 74 70 34 /0 92 3/ 90 74 &9
2 &0 2/ 78 40 £3 79 &4 /¢ 36 34
3 ¢3 %0 20 72 &4 53 20 52 &2 75
4 75 &9 43 ~54 49 ~60 7¢ ~47 27 &/
5 Sod —~2:8 £ 7 7/ 72 —&/ /& 68 &7 —i 3
6 L% —1d 4 57 —&7 /0 28 5] 37 65 —30
7 ¢& 7.4 62 #0 5é 4S5 30 72 70 26
Bt




[5] 81 [E & 2[q 55 3 [H $F4m S5 (56 [

No| ® | B R ® R R ® B R £ B R £ R R ®E ' KR R

1| so8i 24l /97| ws0! g&i ss0| 24s| 32 2| 2737 73] /75| 73] &9} /82|  $é; 30) /39
2| /50l g0 /19| s00i 49i /76| 280 94 /73| we&l «&i /39| 3200 30} /33 931 /& /20
3 /780 2 /24 4267 /31 209 /200 431 250 603 24 /88| 3385 74 200 3601 785 224
A 360% 36% /22| 392% 481 /63| S4s: 470 /28| 7200 &9 223| S76 271 93| 8370 4 /35
8| /380 s€i /42| &/2i 20i 78| 234) sé} /62| 222 3/i /38| /ss 5/% 2//| 98l 24} /40
6| /770 79% 207 40 &1 272 s220 /5% 13/ 921 0. /&9 690 #31 /78| &% 9/% 227
| 3487 /5 2/8 S#: 74 77l ra0i 7% 229 258 485 &7 /920 /61 /38| 288 431 //6
8| £371 431 203\ 4&#i 3/% /&%| s4sl g0} /97| #8591 /2) /48| 472 35) 209 485t 491 /37
9| /3¢t gsio/vé| 3920 570 9/| 2721 280 s8s| 300 séi se#| 280 s2i sag| /351 520 /85
0| 2430 $7: /48] 102: 26 /50| /%é 37 /03| 2/0: 97i 2/3| 224! 98 §&| 28&: &7: /50
M| 9/220 2050 247| w/44: 9831 225|  &o4) 754: 23%| 17920 2531 252| 74061 149 247 wesst 975 243
12| 7.808! $671 243| 2%42/) $361 270| 2742} 174} 3/5| 1,770} 8071 297| 3.2581 326} 23%| 7,240 582} 252
13| 27721 620} 2/64| 2781 70/% 306| #.872i 638i 234| 3,600 439! 252| 2,0/0) 635} 306| 2,272} 207i 3/
4] 3,72¢4 4861 2352| 2444 /1200 297| /1,995 249 24/ 7221 5921 234\ 4,728 4571 243 4301 /931 288
15| £,9505 £391 3/8|  #32} 364! 234| #,.670] $2/} 288 4424} 7201 252| /,386] ST74 288| 5,803} 236 288
6] w47i 7430 333| 56587 7451 297| /.6241 9027 23%| /.863] 764 267| 1.3771 8/31 2/4| /508" 308} 270
17| 46,3091 708 288| 3,648 2071 270| 2,037} 388\ 234| 7/&% /47! 225| 7,608} 208\ 288| 2./85 &69. 252
18| 40707 98/% 306| 2,/60; 492} 225| 2,520! 407! 207| 3,238 408} 234| #./70' 98/ 270| 352 /4 252
19| /./20} 3/4} 23%| &/451 &/&1 297| 1./361 9/01 26/| 4.5401 €741 26/| 5.470] 790} /89| 3438} 740! 324
)| /2% 772; 252| [,803) §571 2/€| 3,780 £€3: 35/| 2/42; 3/&: 306| [,/48: 602: 297| 2406 45/} 28/
21| 2,450 35 #/9 788 /91 389\ /.26/: 94: 373| 7.350% &4\ 387| 46,6961 SYi 447! /.6/51 34 #/%
22| 874 891 &S| 42480 701 /99| /1,792 381 2/4| /,9000 32: 32/| 24320 /9% /27| 10920 #/% /43
23| /,/27) 64} 36%| 26887 &5i 373| 53600 /3% 332 37471 &3] 393| 63050 75, 40| 9720 73} 404
28| 25381 /&1 87| /6781 S2i 228 7801 S9i /23| 3.8/4 74, &/| /.599% 3/1 287| 3.060% 48! 42
B /6321 971 /S| [.3/%,  6%i 392 3408 &4 388| 23681 9/} 347| 2,294: 82i 4#43| 27881 251 448
B 55731 £ /58| w7941 281 /28| %.284] 707 /78| 4.462] 40} 208|  208] 28! /48| 4.899] 90; 229
2| 48391 731 402| 2080) 34! 423\ 1,836 #31 355| #2701 /71 337| /./60% 93! 343| 22250 &4| 337
28| 3,200 S2: /73 765 9/ /57 P& 7 J13 4061 S5&1 &2 S58: #07 232| 438 7P B3
29| 2,790 20 404| 5490 431 320| 2./00 b2i 426| 4201 79 447| 3,570\ &7 434| /440 &9 340
0| 3.2681 4/ 206| /,8720 47 253| 8,794 270 258| 5,694 231 /98| w.s44l 96 sav| 4720 12t 23/




el £ 7MH 8 $12H

Nl = B R ® B R LB A F B R

1 dédi &7 re3| 2br) 541 /5% : Ji0, #S), 138
5| garl 2@l ras| ol e 237 gy4i /31 /79
3 241 32i /465 450 7/ /69 /08 9/ 27/
4l 7051 45 /20 720 30 93 /170 691 120
S| 284l $61 /82| 848l /8l /23| 3/3i 38 (03|  280i #0! /[3/| 435 S8l /90| #7851 70i 129
6| 7741 /4 /47| /20, 430 //3 3240 2. /74
7 3420 & /&S| 37/ 921 /94 4277 24 /00
8| 340! 7/i age| 2385 27! /30 6561 370 /36
g g5l & 728| Jor] 42} als . . Frgd  SUL 97
0| 761 70 /74| #9228 /35| 240 94 203| 228 92 R 1 YA 1% L /60| 204:  $&: /7%
| /4420 42/ 324| /478 708 324 ? : 2,250 &03 26/
12| 5,058} 603} 297| 624} /#2) 26/ /648 4720 288
13| 950) 938 264/| /./96) 409} 252 7,029 680 297
14| 5,704 308 279 /548 7941 225 THS 287 288
18| £,88/1 ST#I 288| 7,830 35/} 279| 2,600} (871 279| 3860} #79: 270| 3.676: 695 /80| [./26; 56/} 277
16| 3,900] 894 2/4| 2./20} 985} 333 | 1 ’ 1 3,548 409} 26/
17| 7,034 749 306| /3547 4231 306 /.27% 7961 252
18] 38721 /82 252| 3.,0/8% $60% 2/6 40! /351 26/
19| 408l 4/7) 3/85| 04! &/71 3/ 1,374} 324! 3/5
0| /,9/20 2505 23%| 6,587) 234] 243| 5840} 3501 288| 276} 602} 225| #,630) 247! 297| 6,328! 978! 342
21| /,3/2¢ &/ #02 4807 32 392 20377 £%5 383
22| 9821 &0 237| 4,594 S7 /73 7,5200 §2! 238
23| /8981 /41 #/9| 5040 90! 373 3,568 s0| 328
24| 7,908 281 27/| 4420 74\ /49 . /484 /& 223
2| 2,445 571 26/| 7.8/2! /9! #33] 2880! 62} 374| [.360} /3 IR A ANE R ARV AT VA 720 3% #23
26| 53367 727 93| /1,200, 4& /43 : 1,274 471 277
21| 27600 /91 #42| 23520 &/} 405 24851 29% 404
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W 2000 2/i /90 /941 S0l //#| 244} 70 208 247 24, /77| /80 0} 230| 592, 291 /84
2| 7520 751 /45| 340! 341 247 4231 a/i /70| 3/8 7/ /82| 7407 3/% /43| 8700 /5% 223
3 g3 &7 S35 $/30 48 /28 /08 /27 /95 /&80 941 /52 305 78 &0 74 8521 /57
4 /881 syl /e8| 8761 /0 /32| 2920 &5 /eu| 2250 570 47| 2720 95) ss¢| ya9i #4: 138
S| 6L 68 /761 288l €71 /92| 4761 3# /26| /800 /2 2/0| g4l £& /45| /o4 78l 238
6| 3400 941 /42| 200i 79. /¥ FOiI 541 /39| S/& 40\ /94 &4: 49: /74| 3951 90. 72
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Vgt @i se¥| w97l 93l /8/| 2700 #3) /24| 728 351 ss8| 356 34i sep| 34l 240 277
0| J#% 435 107 276} #31. /60| 360 69 /27|  3#&: & /78| 477! 27) 2/0|  #20. &7! /20
1 $28 706! /98 IHI0) 5287 2/6| 22471 S2%: 270 370) 9500 24/ /484 £241 243 | 3.942) 440 243
12| 3.960) #67) 3%2| 3408 28641 270| 2,360} 706! 243| 3486 3671 342 /#33] 237! 279| 4333 £02! 283
13 /2020 /247 297| 34550 9031 279 3.0/& 298: 288| 7,209 0%} 207| 2427! 408! 3/5| 372} 594 297
14| 7,520 348! 2/6| 43481 34/ 333| /.656% &/31 243| /4801 789 243 7,6321 3/01 26/ 2,284 /39 243
15| 170% 482; 279) 3366} &s4) 28| 1952} #6351 35/| 3./68! $28! 297| 2,5%01 79/ 23%| /.366% s/t 279
16| /8400 2901 3/5| 3.228] 7671 247\ 29201 7371 268] 4.5437 8751 205 1,340 5791 297| Govst 3577 252
1T\ 34/20 &/7: 252\ /,8281 /37) 207| 4.3/0: 682} 252| &777% 703 243| z.444) 945 2/4| 1.550F ¢0é: 228
18| 4./851 935 234| /,504; 705! 304| /.37/F 780\ 3/8| 4,580} 494 342| 4.8/8 séu) 279 LIE3: 78t 287
19| 20881 50/} 26/| 5880} §70% 243| 3070 /49 208| g£2} 247} 207| <00 482! 252| 2,607} 763} 324
0| 2/63: 7531 333| 674 __€‘_{:2_1_9_”:%?‘ ______ £/81 30/1 288| 2428 £32: 304| %9231 5031 3/5| 4.5/2) 2/5] | L¥T
21| 2,827 97 409| #9021 92 #/0| $,244: T8 384| 4,045 /1 348| 64,0037 /&) 404| 3,7/00 42\ 33/
22| /59461 S/1 /00| 3,549 49% 26/| 2/70% 374 /89| 7488 291 /92| 82200 &3 208| se8s5i wsi 127
8| 50741 761 362| w067 531 34/| 20251 &3} #0%| 3500 14} 389| 19691 44} zu¢| 1276 33% 319
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8| /,.260; 98 /08| 2./76 /4 /75| /5600 &7 307 FEE L 4T /78| 72540 481 /52| 3,870 /&) /4%
20| /4370 821 29/| 2874 70} 368| 33541 921 3/2| w947 s¢ 373 3501 72 374| 27300 35 w4y
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2| w55l sel a/9| /921 wol ss¢| 20l 931 /47| 2750 291 2/4| 6301 2/1 /35| 2481 301 223
3 /28 60 /// 402 28 /33 /15 #1194 223 &2, /488 2001 &&: 23/ 2520 821 /48
4l /421 430 /82| sé0r /30 788|  280F 250 /97| 224 30 /32| 334 &9 /27| /341 /T /49
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11| 5,.3480 4351 252| 7.4700 4371 252| 4,938 578\ 28F| /7,950 9341 26/ | #8544 4281 24/| &72: 47 270
12| 3,0720 304 2/6| 2892 902} 252| 2534} 734} /98| &42i 794) 279| 1,020} #87} 324| 2068} 70/} 297
13| 7720 449 288| &/0) £531 297| 2,808) 405\ 279| 34651 /40 225| 3.870) &35! /&0| /2800 4#8£0% 225
4| 7,463 7800 279 /.524% 72/ 297\ 2445 §9/1 26/| 3484 5468 288 2,745 703 270| 2,928 504 297
18| 7,065 9731 279| /8551 €091 225| 23881 324) 243|748} 687 297| 3928 294 232| 72| /38! 306
16| /7401 2477 3/5| ¥4t 375 252| 7,802 2501 2/6| 3,448 702} 279| 2./84} 5/91 243| 3,556 279 252
1| 7,.808% /520 228\ 7,254) /46) 270| /,/76% 967 297| 4,048 §231 26/| /1,724 30/1 3/5| /4300 965 3/5
18| 32,2200 8241 /89| /./720 2700 297| 85./60% /42) 342| 2483 475 297| /./T4) 1407 24/ 2,958 &£/2! 342
19| /,/801 3971 333| 4.0/4) 4941 324| 1,750} 689! 304| /8831 309} /80| 3.944! 7541 2/6| 2925} 396} 234
20| 2,57/ /08 225| 2788 368 282| #806: /03 333| 3.7/3: 28/ 297| 227%: 7¥2: /80| 7,387 523, 237
21 $0s5: &21 379 700 26 349| 4,408 371 383| 4,824 24\ 343| 29761 &4 34/| /./05 5& 409
2| 4,582 970 209| 2478 431 /12| 1.4041 S4i /50| 4.64/% 59 223|  S44. 49 293| 2349 &6 220
23| 2,947 S4i 408| 1242 71 452| 1943 98| 348| /.580) 921 387| 1,260 631 367| /4700 700 369
24| 7,735 301 233| 5,394 741 /77| &54% 23 /73| [.2450 481 /54| 46061 38 /88| 2,3200 39% /58
25| 3478 /& 77| 1,035 2851 #4%| 6,057. /91 357| 2006} 38} #32| /.2%5 S2i #26| 3,276! 951 344
26| #7460, 431 39| 72647 3/} 22/| 24€0] %2} 3/7| /2481 /&) /87| 1,750 200 28/| /./78 T4} /56
21| 26040 74| 383| #3801 90! 37/| /025 48 430| 1,07/ 20% 358| 2./441 9/i 434| 47580 2/} 354
28| 2,070 49 247| 5,096 &2 /4/| 3420 70 250| 2,600 731 /0/| 4,674 TS5 /33| 43641 42 24/
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